sl ganSIL L gy

AVEFY [V ey G 1 el ) Juadl) el ae dllal) daala
I P PRYT e a slad) A48
A VEYY]5[2: fy |'¢ cibpialy ) and
438290 1)l =
(¥) el g Juali z3abal = '
math 202 : Wy S
Name: ID: S.N: Group:

Q1) Choose the correct answer:

1. The lower sum with four rectangles of equal
width of f(x) =% between x =1 and x =5 s

Y
A
1 4
t > X
1 2 3 4 5
(A) (B) (C) (D)
T4t 4=| oo LN T+24+2+4-
2 3 4 5 6 2 2 3 4
4
2. k2 =
k=1
(A) (B) (C) (D)
7(8) (15) 6 (7) (13) 5 (6) (11) 4(5) (9
6 6 6 6

3.Suppose that Y>_;a; =3, then Y2_,(2 + 2a;) =

(A) (B) (C) (D)
8 16 40 22
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4. The sigma notationof 1+2+44+8+ 164+ 32 is

(A)
Zl6c=1 2k—1

(B)

Yik=12"

(C)

216(_1 2k+1

5.1f 1 < f(x) <6 foreach x € [1,3]and fis continuouson [ 1,3 ], then

(A)
—-1< fff(x)dx <1

(B)
0< fff(x)dx <1

(C)

flgf(x)dx <-12

(D)

s
2
6. fxgcosxdx:
_
2

7.1f f is even, fff(x)dx = 7,and folf(x)dx = 2, then f_44f(x)dx =

(A) (B) () (D)
14 9 0 18
tanx
“dx 1+ ¢t2
0
(A) (B) (C) (D)
1 —1 cos? x sin? x sec? x
9.f sec’fVtan 6 db =
2 3 1
§(tan9)§+c gsec39+c tand +c secd + ¢
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2 < flsf(x)dx <12




1
10.j—dx=
NG

(A) (B) (C) (D)

ix.'.c 2\/E+C \/1-_[+C
VA

11. The area of the region between the curves of x = 4y%? — 8y a, x = 16y? —8y3is 16

}.'
T
II'
A;l?-:{ﬂxj X

-

- k.
=4y -8y T
— 1
-0 -5 5 10

7

(A) TRUE (B)  FALSE

12. The length of thecurve x =1 —4t , y =2+ 3t fromt=1to t=4is

(A) 3 (B) 75 (C) 15 (D) —15
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Q 2. Integrate the following

A. f_11(2 + |x|) dx

X
B. d
Jx3+2x2+x X

T
j sin? x +cos? x

CSCX

0

dx
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2x + sec?+/x
Vx

E.j3\/x3—1 x° dx

dx
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Q 3.Find The volume of the solid generated by revolving the region bounded by the line y = 2x,
y =0, and x = 2, about the x=2

— M L B

Y-

A 4 3 2 1 2 3 405

o= b
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Q4. Use the shell method to find the volume of the solid generated by revolving the region

bounded by the curve y = x? and the line y = x about the y-axis

on

- M L

£ 43 2

g B orh D

1 2 3 4 5

Y.
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